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Meaning of Consumer’s Equilibrium

» Consumer’s equilibrium is a situation when a consumer spends his given income
on the purchase of one or more commodities in such a way that he gets the
maximum satisfaction and has no urge to change the level of consumption, given
the prices of commodities and level of the income.
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Tools for Consumer’s Equilibrium Analysis in

Ordinal Approach
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1. Indifference Map: The indifference curve is the locus of different combinations of two goods that
yield the same level of satisfaction (utility) to the consumer. The indifference map contains different
indifference curves showing different levels of utility.
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. Budget Line:The budget line represents the different quantity combinations of available
commodities that a consumer can purchase given his level of income and the market price of
commodities.
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https://businessjargons.com/indifference-map.html
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The Budget Line (Seic 3W@T )

Income = Expenditure
M= Q,.P, + Q,.P,
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At point ‘E’, the Budget line AB is tangent on
indifference curve IC,. At this point, consumer
is at maximum possible level of utility under
budget constraint and both the necessary
condition and the supplementary condition get
fulfilled. Hence, the consumer attains
equilibrium at point ‘E’.
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Conditions of Consumer’s Equilibrium

(3IHFAT FFT FT U )

®» Necessary Condition or First Order Condition:
The slope of Indifference curve= Slope of the Budget Line
MRSxy= Px/Py
ek T T TUH Thod T A :
3TN dsh ol &Tel= doic T T &lal
MRSxy= Px/Py

® Supplementary or Second Order Condition:

Indifference curve should be convex towrads origin at the point of equilibrium or absolute value of MRSxy
should be diminishing.
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